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Theoretical Question – T1


	
	Mechanics of a Deformable Lattice
	(Total Marks : 20)

	
	Here we study a deformable lattice hanging in gravity which acts as a deformable physical pendulum. It has only one degree of freedom, i.e. only one way to deform it and the configuration is fully described by an angle . Such structures have been studied by famous physicist James Maxwell in 19th century, and some surprising behaviors have been discovered recently.
මෙම ප්‍රශ්නයේදී ගුරුත්වය යටතේ එල්ලා ඇති physical අවලම්බයක් ලෙස ක්‍රියාකරන විරූප (deformable) දලිසක් ගැන අධයනය කරනු ලබේ. එය එක දිශාවකට පමණක් විරුපනය කල හැකි අතර එහි හැඩය  කෝණය මගින් විස්තර කලහැක.
As shown in the figure 1, N2 identical triangular plates (red triangle) are freely hinged by identical rods and form an N × N lattice (N > 1).  The joints at the vertices are denoted by small circles. The sides of the equilateral triangles and the rods have the same length l.  The dashed lines in the figure represent four tubes; each tube confines N vertices (grey circles) on the edge and the N vertices can slide in the tube, i.e. the tube is like a sliding rail. 
පලමු රුපයේ පෙන්වා ඇති පරිදි එකසමාන ත්‍රිකෝණාකාර තහඩු N2 ප්‍රමාණයක් එකසමාන දඩුමගින් නිදහසේ එලවා ඇති අතර එමගින් N × N  (N > 1) දැලිසක් සාදනු ලබයි. සම්බන්දක ශිර්ෂ කුඩා සිදුරු (circles) මගින් පෙන්වා ඇත. සමපාද ත්‍රිකෝණවල පැත්තක දිග හා දඩුවලට සමාන l දිගක් ඇත. රුපයේ තිත්ඉරි මගින් නල හතරක් නිරුපනය කරන අතර එක් එක් නලයේ අයින (Edge) මත  N ශිර්ෂ ප්‍රමාණයක් ඇත. මෙම ශිර්ෂ නලය දිගේ ලිස්සා යාහැක.
The four tubes are connected in a diamond shape with two angles fixed at 60◦ and another two angles at 120◦ as shown in Figure 1.  Each plate has a uniform density with mass M, and the other parts of the system are massless.  The configuration of the lattice is uniquely determined by the angle α, where  (please see the examples of different angle α in Figure 1).  The system is hung vertically like a “curtain” with the top tube fixed along the horizontal direction.
පළමු රුපයේ ඇති පරිදි නල හතර මගින් දියමන්ති හැඩයට සම්බන්ද කර ඇත. එක් එක් තහඩුවේ     ( red triangle ) ගණත්වය ඒකාකාර වන අතර ස්කන්දය M වේ. පද්දතියේ අනෙක් කොටස්වලට ස්කන්දයක් නැත. α කෝණය ( ) මගින් දැලිසේ හැඩය නිර්ණය වේ (පළමු රුපයේ රතු තහඩු බලන්න). මෙම පද්දතිය තිරස් දිසාවට වෙනස් නොවන ලෙස සවිකරනලද ඉහල නලය මත තිරයක් එල්ලෙන ආකාරයට සිරස්ව එලවා ඇත. 
The coordinate system is shown in Figure 2.  The zero level of the potential energy is defined at y = 0.  A triangular plate is denoted by a pair of indices (m,n), where m, n = 0, 1, 2, · · ·, N − 1 representing the order in the x and y directions respectively.  A(m,n), B(m,n) and C(m,n) denote the positions of the 3 vertices of the triangle (m,n). The top-left vertex, A(0, 0) (the big black circle), is fixed.

ඛණ්ඩාංක පද්දතිය දෙවන රුපයේ පෙන්වා ඇත. y = 0 අක්ෂය විභව ශක්තිය 0 වන මට්ටම ලෙස සලකයි. ත්‍රිකෝණාකාර තහඩුවක් (m, n) දර්ශක යුගල ( indices) මගින් පෙන්වයි. මෙහි  m, n = 0, 1, 2, • • •, N – 1 මගින් පිළිවෙලින් x හා y දිශාවන්ට ඇති පිළිවෙල (order) නිරුපනය කරයි. 
The motion of the whole system is confined in the x-y plane. The moment of inertia of a uniform equilateral triangular plate about its center of mass is I = Ml2/12. The free fall acceleration is g. Please use Ek and Ep to denote kinetic energy and potential energy respectively
මුළු පද්ධතියේ චලිතය x-y තලයට සීමාවී ඇත. සමපාද තහඩුවෙහි ස්කන්ද කේන්ද්‍රයේ අවස්ථිති ඝුර්ණය  Ml2/12  වේ. නිදහසේ වැටෙන ත්වරණය g වේ. කරුණාකර චාලක ශක්තිය හා විභව ශක්තිය නිරුපණය කිරීම සදහා පිළිවෙලින්  Ek සහ Ep බාවිත කරන්න.
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	Figure 1
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	Figure 2


	
Section A: When N=2 (as shown in figure 3):
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	Figure 3


	A1
	What is the potential energy Ep of the system for a general angle α when N = 2?
N=2 විට සාදාරන  α කෝණයක් සදහා පද්ධතියේ විභව ශක්තිය Ep කොපමණද?
	2 points

	
	

	A2
	What is the equilibrium angle αE of the system under gravity when N = 2?
N=2 විට පද්ධතියේ ගුරුත්වය යටතේ සමතුලිත වන කෝණය  αE කුමක්ද?
	1 point

	
	
	

	A3
	The system follows a simple harmonic oscillation under a small perturbation from equilibrium. Calculate the kinetic energy of this system in terms of d()/dt. Calculate the oscillation frequency fE when N = 2.
[bookmark: _GoBack]දැන් සමතුලිත අවස්ථාවේදී සිදුකරනුලබන කුඩා කැලබිමක් මගින් පද්දතියට සරල අනුවර්ති දෝලනයක් ලබාදෙයි. පද්ධතියේ මුළු චාලක ශක්තිය d()/dt අනුසාරයෙන් ගණනය කරන්න. N=2 විට දෝලන සංඛයාතය  fE ගණනය කරන්න. රේකීය සහ බ්‍රමණය  සලකන්න.
	5 points




	Section B: For arbitrary N :


	B1
	What is the equilibrium angle  under gravity when N is arbitrary?
N අබිමත අගයක් වනවිට ගුරුත්වය යටතේ සමතුලිත කෝණය  කුමක්ද?
	3 points

	
	
	

	B2
	Consider the case when . Under a small perturbation of angle α, the change of potential energy of the system is, the kinetic energy of the system is , and the oscillation frequency is .  Find the values of γ1, γ2  and γ3. 
. යන අවස්ථාව සලකන්න.  α කොණයෙහි කුඩා කැලබිමක් යටතේ, පද්ධතියෙහි විභව ශක්තියෙහි සිදුවන වෙනස  ද, චාලක ශක්තිය  ද, සහ දෝලන  සංඛයාතය  වේ.   γ1, γ2  and γ3 අගයන් සොයන්න.
	3 points



Section C: A force is exerted on one of the 3N2 triangle vertices so that the system maintains at m = 60°.
	             y
x
g

Figure 4

	C1
	Which vertex should we choose to minimize the magnitude of this force?
මෙම බලයෙහි අගය අවම වීම සදහා බලය යෙදීමට කුමන ශීර්ෂයක් තෝරාගත යුතුද?
	1 point

	
	
	

	C2
	What are the direction and magnitude of this minimum force? Describe the direction in terms of the angle θF defined in Figure 4.
මෙම යෙදිය යුතු අවම බලයෙහි විශාලත්වය හා දිශාව කුමක්ද? හතරවන රුපයේ අර්ථදක්වන  θF කෝණය භාවිත කර දිශාව පැහැදිලි කරන්න.
	5 points
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